[ Efficiency vs vertpos |

~ 0.5

Y SR S S— —

2 : : :
O I prereeeeeeeed AR

—a— UV VOUU RUUUUUUUUJ. Oopdj TUOUT A=W v

—— BRM-VO001-RO00000001Glopal —mKFILIONg RECO
[Efficiend == BoV-Vodoi-Eadendonat—clona—mkeitionaChime —RECS

—— DOM—V0001-R000000001—Global—mkEitT000MTime —RECO

~n 0.2
20.18
n
>0.16
>
2
90'14
3]
£0.12
(]

0.1

0.08
0.06)
0.04
0.02

Vel

Ratio
N

e IR

o

13
oS
S

-20 -10 O 10 20 30
TP vert z (cm)

[ Efficiency vs. sim PV z |

N 0.
>
2.0.09
£
50.08
20.07
o)
20.06,
[}
(&}
£0.05
()
0.04
0.03
0.02

0.0

........................

1.0

Ratio

1 _|||||||||L||

0 -5 0 5 0 15 20

éim. PV z (cm)




	Contents
	Page 1


